- Monat.....++...... Ware -+ Menge —+ Gesamt
-+ Mai........ CE T Kartoffel -+ 800kg -+  400,00€7
-+ Juni.......=......... Salat -+ 250-5tkk - 120,00-€Y
—+ Juli......... o Karotten -+ 400kg - 310,00-€7
-+ August ...........Sellerie -+ 280-Stle. -+ 300,00€7
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Das-Grundstiick-betrigt-657-m?-und-es-ist-mit-einem-Aushub-von-
300-m*zurechnen.|

1l
Der-ATXi1.und-DAXz-ist-konstant.y

Dieser:-Teil-des-Textes-ist-durchgestrichen,-jener-mnicht.q
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Ein-Druckerdstin-der-Datenverarbeitung-ein-Peripheriegerit-eines.-Computers-zur-

Ausgabewvon-Daten-auf-ein-Trigermedium, meist-Papier.q
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1~+HardwareT
1.14Druckery
1.24Mausq
1.34Computer
2+ Software
2.14Programmef
2.1.1.~+0fficeT
2.1.2~+GIMPY
2.2a5ystemprogramme
2.34Betriebssystem



